BN FE —KREst REWE
(1) & A (A7 : T - %)
B H S0 6 A S0 5 A It W%
AR D820 AR D420 HEVRE HEJRER
1 mH &K VA HE 2, 395, 923 72.9 2,177,198 84. 8 218, 725 10.0
HAREERE 140, 494 4.3 147, 269 5.7 A 6,775 A 4.6
|5 s kg 80 0.0 80 0.0 0 0.0
VB 34, 254 1.0 32, 264 1.3 1, 990 6.2
L R & #H 87, 146 2.7 74, 790 2.9 12, 356 16.5
N 605, 230 18.4 542, 277 21. 1 62, 953 11.6
I R E N 84,913 2.6 73, 337 2.9 11,576 15.8
1 53] b= 1, 443, 806 43.9 1, 307, 181 50. 9 136, 625 10.5
2 fif OB & OY R R 16, 609 0.5 16,916 0.7 A 307 A 1.8
3 S 20, 832 0.6 6, 562 0.2 14, 270 217.5
4 IR B3 [i5] & 78 0.0 64 0.0 14 21.9
5 pE I A 1,734 0.1 3,116 0.1 A 1,382 A 44.4
6 f A N 61, 177 1.8 23, 556 0.9 37, 621 159. 7
7 R it B 28, 549 0.9 112, 711 4.4 A 84,1620 A 74.7
8 Y A 47,176 1.4 73, 650 2.9 A 26,474 A 35.9
9 & B 715, 700 21.8 153, 600 6.0 562, 100 366. 0
AN 3, 287, 778 100. 0 2,567, 373 100. 0 720, 405 28. 1
(2) METFBEEAR 47 - TH)
B H S0 6 A S5 A EALS
IS D820 A D820 AR HEJRER
12 & 1 8 #H & 724, 749 30. 2 664, 169 30.5 60, 580 9.1
2 K F1 0T A H & 924, 070 38.6 840, 612 38.6 83, 458 9.9
3R 4 OB A H & 391, 880 16. 4 350, 671 16. 1 41, 209 11.8
4 K 5 A A H & 355, 224 14.8 321, 746 14.8 33, 478 10. 4
& H & & Gt 2, 395, 923 100. 0 2,177, 198 100. 0 218, 725 10. 0
(3) m (HRRIRE) (A7 : T - %)
B H S0 6 A S0 5 A It W%
PR D820 b Rt AR HEJRER
1 i = ES 2, 432 0.1 2,370 0.1 62 2.6
2 & b £ 204, 823 6.4 223, 944 8.9 A 19,121 A 8.5
3 B E [ 48 0.0 43 0.0 5 11.6
4 1 % 892, 304 27.9 648, 193 25.8 244, 111 37.7
R AEREE 20, 289 0.6 19, 013 0.7 1,276 6.7
VN 41, 150 1.3 34, 269 1.4 6, 881 20. 1
L R & #H % 85, 039 2.7 62,511 2.5 22, 528 36.0
N 661, 695 20.7 473,127 18.8 188, 568 39.9
S SE -y 84, 131 2.6 59, 273 2.4 24, 858 41.9
5 14 B3 £ 1,912, 815 59. 7 1, 464, 416 58. 2 448, 399 30. 6
6 N B [ 188, 024 5.9 174, 858 7.0 13, 166 7.5
7 ¥ fid E 0 0.0 0 0.0 0 0.0
w & = 3, 200, 446 100. 0 2,513, 824 100. 0 636, 622 27.3
(4) Bt (HERE) (A7 : T - %)
B H S0 6 A S0 5 A It W%
AR D820 AR TR HEVRE HEJRER
1 % B B & & 1, 487,953 46.5 1, 396, 292 55. 6 91, 661 6.6
A 12 2 1,277,999 39.9 1, 205, 133 48.0 72, 866 6.0
B B # 21, 930 0.7 16, 300 0.6 5, 630 34.5
N % P 188, 024 5.9 174, 859 7.0 13, 165 7.5
2 B & M & % 991, 722 31.0 393, 459 15.6 598, 263 152. 1
MmO 991, 722 31.0 393, 459 15.6 598, 263 152. 1
3 W G [ 625, 351 19.5 621, 059 24. 7 4, 292 0.7
4 HE B o B & 9, 177 0.3 9, 136 0.4 11 0.4
5 M B B & 15, 960 0.5 15, 016 0.6 944 6.3
6 fi ST & 70, 283 2.2 78, 862 3.1 A 8,579 A 10.9
% & &f 3, 200, 446 100. 0 2,513, 824 100. 0 686, 622 27.3




SHNOEE NERTBARFRIRET REHE
(1) & A (A7 - T - %)
B H S0 6 A S5 EE EAS
AR kLt b TR HEJRAE HEJRER
1 &R VA HE 11, 930 92.5 11, 987 91.7 A 57 A 0.5
B A TAfEEe 4,730 36.7 4,135 31.7 595 14. 4
X FoonT A 4 3, 595 27.9 4,276 32.7 A 681 A 15.9
KR 0T A fH & 2,074 16. 1 1, 898 14.5 176 9.3
K A & H 4 1,531 11.8 1,678 12.8 A 147 A 8.8
2 e it 4 941 7.3 1, 060 8.1 A 119 A 11.2
3 I A 25 0.2 22 0.2 3 13.6
o AN A& it 12, 896 100. 0 13, 069 100. 0 A 173 A 1.3
(2) mH (HEHNRE) (AL 2 TH - %)
B H SN 6 FE SFN 5 FJE e 8%
KRR TRk PLELZE [i3pdze HEIRER R
1:& % B B # 11,175 89. 7 10, 963 90. 4 212 1.9
A 14 # 11, 175 89. 7 10, 963 90. 4 212 1.9
2 W Gs % 1,253 10. 1 1, 142 9.4 111 9.7
3 M B B % 26 0.2 23 0.2 3 13.0
A B 12, 454 100. 0 12,128 100. 0 326 2.7
SHNOEFE RBREXEXDDEBARFRISET REHME
(1) & A (HA7 : T - %)
B H SN 6 FE SN 5 FJE e &
KRR TRk PLELZE TRk HEIRER R
1 &R OAHE 4 1, 140 90. 3 1, 169 96. 1 A 29 A 2.5
w AT AR & 388 30. 7 452 37.2 A 64 A 14.2
K Fon B & fH & 446 35.3 393 32.3 53 13.5
KGR ET & H & 150 11.9 168 13.8 A 18 A 10.7
R 5 A A #H & 156 12.4 156 12.8 0 0.0
2 i et & 122 9.7 48 3.9 74 154. 2
3 W 1% A 0 0.0 0 0.0 0 0.0
AN A B 1, 262 100. 0 1,217 100. 0 45 3.7
(2) mH (HEHNRE) (AL 2 TH - %)
B H SN 6 FE SFN 5 FJE e 8%
KRR TR PLELZE [i3pdze HEIRER R
18 B B B & 886 83.5 910 83.0 A 24 A 2.6
A 14 # 886 83.5 910 83.0 A 24 A 2.6
2 W 1 % 172 16.2 183 16.7 A 11 A 6.0
3 M B B % 3 0.3 3 0.3 0 0.0
W A& Ft 1, 061 100. 0 1, 096 100. 0 A 35 A 3.2




DIHNOFEE RRBERET REHME
(1) URFEBIURA (HA7 : TH - % BUA)
Bl A SHn6 FEE S5 EE EAEES
PR R PLEKA LD aze HAJREE HAJE
R B 198, 437 100.0[ 203, 062 100. 0] A 4,695 A 2.3
1= ¥ I 2§ 10, 000 5.0 10, 000 4.9 0 0.0
22 ¥ 4 N & 188, 437 95.0 192, 299 94. 7 A 3,862 A 2.0
S A | R 0 0.0 763 0.4 A 763 e
(2) INFEEIZH (HA7 : TH - % BUA)
Bl A SN 6 FEE S5 EFE EAEES
PEEE R LKA LaDaze HAJREE HEAJRE
1w bt &+ ¥ & H 351, 261 100. 0] 364, 902 100. 0] A 13,641 A 3.7
1E % % H 315, 509 89.8| 341, 451 93.6| A 25,942 A 7.6
2= ¥ 4 B H 16, 866 4.8 23,451 6.4 A 6,585 A 28.1
3K B OBk 18, 886 5. 4 0 0.0 18,886  Lbpm
(3) EXRBIRA (HA7 : TH - % BUA)
B A SHn6 FEE S5 EE EAEES
PEEE R PLEKA W HAJREE HAJE
1 & & B N A 346, 502 100. 0] 389, 384 100. 0] A 42,882 A 11.0
1 %{%Fﬁﬂ%ﬁm‘ﬁ‘jﬁ 283, 102 81.7] 289, 806 74.4] A 6,704 A 2.3
2 1 > & 36, 900 10.7 48, 400 12.4f A 11,500 A 23.8
3 4l Bl ZN 0 0.0 24, 678 6.4 A 24,678 /A 100.0
4 KA 4 el I 4 26, 500 7.6 26, 500 6.8 0 0.0
(4) EXRBZH (HA7 : TH - % BUA)
B A SHn6 FEE S5 EAEES
‘ PR R LKA W HAJREE HAJE
1 & & B =X H 346, 501 100.0[ 389, 382 100.0[ A 42,881 A 11.0
14 % F B 2 & 303, 122 87.5| 334,511 85.9| A 31,389 A 9.4
2 &R O B & 36, 950 10. 7 48, 442 12.4] A 11,492 A 23.7
31U — RGPEME N 0 0.0 0 0.0 0 0.0
4 h S EHEASE RS 6, 429 1.8 6, 429 1.7 0 0.0
(5) METHEEE - HELAR BT : TH - %)
Bl A ¢ kﬁ%n(ﬁﬁfi i kﬁ\%n&sﬁfg : EAEES o
KA R REEE LD azs HAJREE HEAJRE
1 ISP (B4 160, 826 100. 0 157, 303 100. 0 3, 523 2.9
& & A #H & 16, 727 10. 4 16, 360 10. 4 367 2.2
2Kk fo W] & #H 4 96, 495 60. 0 94, 382 60. 0 2,113 2.2
3K 4 BT A fH & 24,123 15.0 23, 595 15.0 528 2.2
N T = 23, 481 14. 6 22, 966 14. 6 515 2.2
2 BAMINA (H&E4) 283,102 100. 0] 289, 806 100.0] A 6,704 A 2.3
1E & hm A #H & 29, 442 10. 4 30, 139 10. 4 A 697 A 2.3
2Kk fo W] & #H 4 169, 862 60.0| 173,884 60.0|] A 4,022 A 2.3
3K 45 BT A fH & 42, 466 15.0 43, 471 15.0 A 1,005 A 2.3
4 K 5 KM A M & 41, 332 14. 6 42,312 14. 6 A 980 A 2.3
aisE - HE&5E 443, 928 — 447,109 — A 3,181 8.9
SAOTFE FFEEERT—YI3VERERET AEWE
(1) URZREIURA (HLAL : T - %)
B A SFn6 FEE S5 EE EAEES
PR R LKA W HAJREE HAJE
1 = ¥ 1% it 29 100. 0 1 100. 0 21 2,100.0
1 BhRFE A 22 100. 0 1 100. 0 21 2,100.0
(2) INFEEIZH (HA7 : F - %)
B A SHn6 FEE S5 EE EAEES
PEEE R AR W HAJREE HAJE
1 = * bR H 262 100. 0 0 0.0 262 hEpE
i E#EFEXEEM 87 33.2 0 0.0 87 Lk
2% Bl Bk 175 66. 8 0 0.0 175 ey




